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S—20 b R13-0 | 29.4 735 A | 0.9 22.0
. |s—13]205 | & A | 2.8 70. 0
# s— 5] 6.0 | # ) % Balra&| (6.9)
= | FeER | 13.5 | B | R13-0 30.0 |4y H72&| (1.5)] ——
B e | 13.5 | & 3E>| 18.2 | 455 |mammmaA
7 W Omb| 13.5 B 2¥>| 5.1 128  |FiTAI7Mb 5.4 135.0
foB| 40 | M 1E¥]| 38.2 955
2 100.0 | 0¥ 2 [ 100.0 | 2500.0
HSBHWVWH |2 N B & |8 B B & | MmO AR|] k E @ A
53 mm ]
& 375 m -
& 31. 5 mm
= 26. 5 mm
2| 19 mn 100.0 | 100.0 T 100
[E] 13.2  mm 98.7 98. 7 S 95 ~ 100
Vil 4.75 mm 72.5 73.4 — 65 ~ 80
& 2.36 mm 58. 6 590 — B0 ~ 65 |
600 um BL.7 31.4 — 25~ 40
% 300 um 20.7 20. 8 —— 12 ~ 27
150 um 13.0 13.2 N 8 ~ 20 |
75 um K | e 4 ~ 10
Z N E A(H B E & R AR A #e i
BT A7V E (%) | BxEt 6.9 RE 6.9 Tl 6.0 ~ 8.0
B7 A7 7V b& (%) 1.5l  |E %5 —
BA MG A & (%) —
BT AT 7V b E (%) 5.39 5.4 —
B ' M B (%) — vt —— S—
" B (g/cm’)|  2.321 2. 318 e
v RZBRBEREE  (g/an’) 2. 420 2. 420  —
I =HECE S (%) 4,1 4.2 — 3 ~ 6
vER fn B (%) 79.0 78.6 —— 70 ~ 85
Ylle ® E (KN) 9.23 9.41 — 4.90 oL b
JVBR 7 m o— {E  (1/100cm) 33 32 — 20 ~ 40
BEZEE (%) =
E ¥ B E () R 2.318 —
# M & E E  (8/m) — —
T D v B (cm?) — — ———
#H o B 25 (%) — — —
#E K fR % (em/sec) —
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